HONORS PHYSICS

QUARTER A
PHYSICS BOX #7
MR. MANOLOFF

TOPIC:  Kinematics: Description of Motion
CHAPTER:  2
DIFFICULTY LEVEL: 2
QUESTION:  A couple in an SUV are traveling at 90km/h on a straight highway.  The driver sees a gerbil scamper across the road, in the distance, and slows down to 40km/h in 5.0 seconds.
a)  What is the average acceleration of the SUV?

Note:  Final answer should be in meters per second per second (m/s2)
Name: ___________________________________________________ (print)

Name: ___________________________________________________ (signature)

Date: __________________________________

